1. Circle the correct choice.
1) Why is growing up more difficult for young celebrities?
a) Because they grow up in front of the whole world.
b) Because they have to attend school.
c) Because they can’t act like regular kids.
d) Because they don’t have time to have fun.

2) What is true about child stars’ schooling?
a) Only a few of them go to normal schools.
b) Many of them have work that doesn’t allow them to go to school.
c) They can be tutored at the place of their job.
d) Their educational experience is hectic.

3) Why do some parents decide not to homeschool their kids?
a) They don’t agree that their children need to go to school.
b) They don’t want their children to have a lot of homework.
c) They want their kids to be in a more social atmosphere.
d) They don’t want the responsibility.

4) What do famous students have in common with regular students?
a) All students would be annoyed by photographers.
b) They go to school the same number of hours a day.
c) All students dislike doing homework.

d) They have the same responsibilities as the regular kids.

5) Which of the following sentences best eb(presses the main idea of the text?
a) Regardless of their celebrity status, child stars must be educated.
b) Child celebrities pay a high price for their fame.
c) Many child stars are inadequately educated.

d) There are many advantages of homeschooling and private tutoring.



